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® KM 5.6 5 TFT(640%480) /R BESHMINIASH, LrAAEH. F%.
® AT IR IR 45 R DL EXCEL k% fIA% sRAF G 7E U B

o it U BT IR T2

® XM DDS HFE T AR, AR, fRuE. didd. (IRREIIEZ.
o SR EF. NFERE], R RS RO K

o BRWIM AT 77 Tk i T, RO

o KL R AT FEDORAE, SCRFRAE B M G4

o PR FELIEBIN AN, TR A E .

o HAXUNLREMIA, HFVEHE 50 Hz. 60 Hz.

o  AMEALBIERMES I . ORI E R, R BE .
o ERMRIEF BN, ARG A R

o  RIESCUUEERAES T, ERANEH PR,

o  TIUMHVEBC/NIHER 0. 1 uA, BRI/ PER 0.001 1A,

® ERC BAIHL, mSCFRERSAETIRE.

® R PLC #%10, RS232 M, LMD LAN#210. RS485 #:M. USB #:1.
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AC/DC/IR/GR

RRME. BEniiE. f5EE. EithEE  (E-)

BIHEERTE 0.050kV ~6.000kV fE#TEE: 1V volts/Step
RARIHINE 180VA

BAEUERR 30mA

iR LIRISE 0.1TuA ~30.0mA

IREEIR TRRIZTE 0.TuA - 29.9 mA

BRI 200uA. 2mA, 20mA. 30mA
LThprE @ 50Hz, 60Hz

MRS 0.0s, 0.35~999.9s O=HEEMix

[E] R IE] 0.0s ~999.9s 0=|alFEadia%

TSR]

0.0s, 0.3s~999.9s

0=EB/E EFHRIIEIR

LRIEATIE]

0.0s, 0.35~999.9s

0=E8[F NPERIIEIR

=BG NNR

0 =Disable

(0.0-999.9)#

(0.050-6.000)kV

BE:  +(1%+0.2%#HEF2)

(0.001-30.0)mA

200uA #79 0.1uA, 2mA #79 0.001mA, 20mA 3 0.01mA , 30mA 3 0.1mA
FBE: +(1%+0.5%H(ETE)

(0.0-999.9)F> fRIFEE: 0.17), BEE: +1%+0.27

BRI & 45 0-9 0=3%

BIHEERTE 0.050kV ~ 6.000kV  f##TREE: 1V

iR EPRIZE SeEl: 0.001uA - 10.00 mA

IREEIR TRRIZE SBE: 0.001 mA - 9.99 mA

FEiAS AL 2uA. 20uA. 200uA. 2mA. 10mA (BEMHY)

(0.050-6.000)kV  f#tFE: 1V

FBIE
= RE:  +(1%+0.2%#EFE)

2uA 179 0.001TuA, 20uA 79 0.01uA, 200uA #759 0.1uA, 2mA #8 0.00TmA, 10mA /3 0.01TmA

2
FEiRE BE: +(1%+0.5%EMEFE)

EFHI ) 0.35~999.9s 0=EB/E LFHRIIEIR
ENEAA) 0.35~999.9s 0=FaETERTEIR
MzAT 0.3s~999.9s  O=iEsEmit
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0.0s ~999.9s O=[alPRATAIR

(0.0-999.9)F> fRATEE: 0.17), BEE: +1%+0.27

5 0-9 0=x

0.050kV ~2.500kV  fEHTE: 1V

1MQ-50000MQ

0-49999MQ

0.0s, 0.3s~999.9s O=iE&zM

0.0s ~999.9s 0=(EIFERTIEIR

0.35~999.9s O=EB/E EFHATIEIR

0.100kV~0.300kV:
0.301kV~0.500kV:

0.501kV~1.500kV:

1.501kV~2.500kV:

1.000MQ~999.9MQ + (5%+2 ),
1.000MQ~999.9MQ + (5%+2 ),
1.000GQ~5.00GQ + (10%+2 M),

1.000MQ~999.9MQ + (5%+2 ),
1.000GQ~9.999GQ + (10%+2 7)),
10.00GQ~50.00GQ + (15%+2 7)),
5.000MQ~999.9MQ + (5%+2 7)),
1.000GQ~50.00GQ + (10%+2 ),

RRATEE :

TMQ ~9.999MQA 0.001MQ, 10MQ ~99.99MQJ5 0.01MQ, 100MQ ~999.9MQJ5 0.1MQ
1000MQ ~9999MQJ3 1MQ, 10000MQ ~ 50000MQ5 10MQ

(0.0-999.9)F>

AT 0.1%, BBEE: £1%+02%)

3.00A ~ 32.00A

JEEl: (10.0~510.00mQ fEHTE: 0.1 mQ
Rset=(32A/Iset) x 150.0mQ

(3.00~32.00)A
BE:  £(1%+0.2A)

(0.0~ 510)mOQfEHTE: 0.1 mQ
BE: £t(1%+2 mQ)

0.0s, 0.35~999.9s 0=1ZELMi

0.0s ~999.9s O={alpRAalR
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